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RESULTS

> The reason that the RMSE index did not meet the threshold was because the target
variables in the testing set were skewed as evidence from normality testing and density
plot which show that all sizes of data ailocation were concentrated in the right-hand side of
the graph, resulting in a high prediction deviance, as shown in the figure .
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Figure: Comparison the effectiveness of prediction through the different data allocation

T0LA PRESENTAT:ON "Lk 13

* MODEL EVALUATION

RMSE & S1 < 0.05
H
Accuracy > 90%

A limitation of most machine Iearnlr(g is that it capnot - /

(

N 8

provide coefficients, but it can match a wide ra q of

data with high accuracy .
















